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UL THY, BHTHREBH LR, —~FH. FRE (A~C) OEFESR
REZRIR, W8%2 5038 XBERII%ERATIEMERSRE.
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R-18 NAFNARAREEREIESE

B H&Z (kW - m-? BE S E (QkY - m™2
(3 E10m) 0.60>T | 0.30>T -0.020

(U) T=0.60 0.15>T | @-0.020| =0Q> | -0.040=Q
m/ s =0.30] 20.15 -0.040

U< 2 A A-B B D D G G
25U<38| A-B B C D D E F
32U<4 B B-C| C D D D E
4=5U<L8 C c-D| D D D D D
8=U C D D D D D D

#(1)

BHENEERBES S EF~H> 22 82T 3.
25, KHORHNXBRENEIATHEH, SARELEBZLKD S,

(2)

3

(4)

HEE, BRERZZ2HHAENI0RoREHEE L 5,
Bt (HOE~HOAYD) REHERXEY, B (HOAD~HOH) BEFRE

Zx AW 3. -
BHE BENIZEEZEOBMLLTREW -m 22HV3.

(5)

BEEESRAAZZFvE (BER) kK3,
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FE— 1 9 — (1) EME - EEEPERBIK S ESAE B BB ==

EH (IBFI63EEH ~88) WERFRITEE ¥ -
AER A B
B EE] A I B I C D E F G i
REEE B C
1.2 0.33 0.28 0.14 $.70 1.03 2.48
2.5
N 3.5
2.48 5.0
6.0
1.2 0.33| 0.33| 0.42 1.55 1.69 4.31
2.5 0.09] 0.09 0.18
NNE| 3.5
4.50 { 5.0
8.0
1.2 0.84 0.98 0.47 2.25 2.06 8.61
2.5 0.84| 0.66 0.19 0.19] 0.05] 0.09 2.01
NE| 8.5 0.05 0.05
8.87 5.0
8.0
1.2 0.37{ 1.12] 0.66 1.64 2.53 6.33
2.5 0.75{ 0.42 0.14 0.28 1.59
ENE| 3.5 0.05| 0.05 0.09
8.01 5.0 '
6.0
1.2 0.47 0.56 1.03 -0.80 1.50 4.36
2.5 0.33| 0.28 0.28 0.33 0.09 1.31
E 3.5 0.05 0.14 0.19
5.90 5.0 0.05 0.05
6.0
1.2 0.56 0.42 0.75 1.73 1.17 4.64
2.5 0.47| 0.37 '0.33 0.52| 0.08] 0.05 1.83
ESE| 3.5 0.18] 0.28| 0.05 0.37| 0.09 0.98
7.59 5.0 0.05 0.09 0.14
8.0
1.2 0.33 0.56 0.14 2.62 1.55 5.20
2.5 0.09{ 0.05 0.14 0.28 0.56
SE| 3.5 0.14 0.14
5.95 5.0 0.05 0.05
8.0
1.2 0.14| 0.28]| 0.37 1.58 0.84 3.23
2.5 0.05 0.05 0.05 0.14
SSE| 3.5
3.37 5.0
6.0
El KEABRHORAME 0/sTHB. ( Bfr: %)

2 HWRERANORRERLFARERT,
3 REWRE288E (KEWEL.20%)
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F— 1 @ — (2) FME - EEPEMRBIR ISR (B ==

E®E (Ei0634E6F~88) RERE T E 2 X —
AAE A B C
B EeE| A ! ‘B | o] I D E F G i
A B C D
1.2 0.13| 0.47{ 0.33 1.45 0.61 3.05
2.5 0.09 8.08| 0.14 0.33
S 3.5 )
3.47 5.0 0.05 0.05 0.09
6.0
1.2 0.37| 0.68{ 0.33 2.62 1.08 5.08
2.5 0.05] 0.37 0.23 1.58| 0.23 2.48
SSW| 3.5 0.33] 0.47 0.70 1.50
10.54 5.0 0.14| 0.42] 0.8 1.36
8.0 0.05 0.09 0.14
1.2 0.37| 6.61} 0.70 1.45 0.81 3.75
2.5 : 0.52] 0.89 0.56 0.811 0.14 2.72
SW| 3.5 0.70| 0.75] 0.09 0.86 2.20
9.28 | 5.0 0.23| 0.14] 0.4 0.52
6.0 0.09 0.03
1.2 0.52| 0.52| 0.42 0.89 0.66 3.00
2.5 0.08| 0.05 0.14
WSW| 3.5
3.14 5.0
8.0
1.2 0.33| 0.70] 0.42 1.03 0.89 3.37
2.5 0.47] 0.05 0.52
w 3.5
3.89 5.0
6.0
1.2 1.22| 0.84] 0.75 1.41 1.22 5.44
2.5 0.80( 0.23 0.05 1.08
WNW/| 3.5 0.05 0.05
6.56 5.0
8.0
1.2 0.47| 0.42| 0.58 0.94 0.80 3.19
2.5 0.05 0.05
NW]| 3.5
3.23 5.0
6.0
1.2 0.33| 0.14} 0.19 0.33 1.03 2.01
2.5
NNW| 3.5
2.01 5.0
6.0
calm 0.05{ 0.28 4.03 7.03 11.39
& # 7.17| 13.54| 12.89{ 1.58| 2.67| 0.56] 34.31| 0.75) 0.23| 26.29| 100.00|
#1 KHXEBOBAE n/sTH B, (82 : %)

2 HRARMNOBREEREREAEERT,
3 RUEAEDI26890G (RFMAE1.20%)




FX— 20— (1) FEmME - BEEPERBINSUEEAE B B

= (BR63EIH~11H) WERR T e % —
ALL A B c
B EE| A I B | C i D E F G it
€EEH B C D
1.2 | 0.05] 0.05] 0.2 1.08 2.12 3.49
2.5 0.30| 0.10] 0.05 0.44
N 3.5 0.15 0.15
4.13 | 5.0 0.05 0.05
8.0
1.2 | 0.05] 0.15| 0.15 1.18 1.77 3.30
2.5 0.15 0.15
NNE| 3.5
3.44 [ 5.0
8.0
1.2 | 0.05| 0.59] 0.54 1.72 3.39 6.30
2.5 0.15] 0.30 0.34 1.03 0.25 2.07
NE| 3.5 0.10 0.39 0.49
8.85 | 5.0
8.0
1.2  o0.10| 0.20] 0.59 1.03 2.80 4.72
2.5 0.25| 0.39 0.15 0.54} 0.10] 0.20 1.62
ENE| 3.5 0.05| 0.15 0.20 0.39
6.74 | 5.0 -
8.0 i
1.2 { 0.10{ 0.25] 0.30 0.93 2.12 3.69
2.5 0.15| 0.4 . 0.25 0.20| 0.10] 0.30 1.43
E 3.5 ‘ 0.15| 0.05 0.15 0.34
5.61 { 5.0 0.15 0.15
8.0 .
1.2 | 0.05{ 0.10| 0.20 1.33 2.16 3.84
2.5 . 0.26| 0.30 0.05 0.20] 0.25| 0.30 1.38
ESE| 3.5 0.15| 0.10]| 0.05 0.15] 0.20 0.64
8.94 | 5.0 0.0 0.10] 0.49 0.64
6.0 0.4 0.44
1.2 | 0.10| 0.20] 0.44 ) 1.28 2.80 4.82
2.5 0.54| o0.49] 0.10 1.13
SE| 3.5 0.10 0.10
.05 | 5.0
6.0
1.2 | o.10f o0.20{ 0.25 0.93 1.33 2.80
2.5 0.05| 0.05 0.05 0.30| 0.05] 0.10 0.59
SSE| 3.5 0.05 0.05
3.44 | 5.0
8.0
1 RKRIEBBORME n/sTH B, (87 : %)

2 HREMOEREBEIAEEERT,
3 Rylesm k151880 (REH6.91%)
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F=— 2 O — (2D mriEg - FEEFERBIKSSSE R (B o

#%%F (ER63EIF~11H) WIEFR T2t 52—
KA& A B C
BE EEl A | B | c | D E F G i)
RFEH B C D
1.2 0.05] 0.38] 0.30 0.59 1.33 2.68
2.5 0.10 0.15 - 0.25| 0.05 0.54
S 3.5 0.05| 0.05 0.10
3.54 5.0 0.25 0.25
6.0
1.2 0.10| 0.74] 0.44 1.23 0.93 3.44
2.5 0.05] 0.30 0.39 0.39f{ 06.30] o0.10 1.52
SSwW| 3.5 0.05| 0.32f 0.20 1.18] 0.30 2.07
10.28 5.0 0.15| 0.59| 1.52 2.26
6.0 0.98 0.98
1.2 0.05| 0.74] 0.89 0.58 0.39 2.66
2.5 0.10] 0.2 0.39 " 0.15 0.39
SW| 3.5 0.20( 0.20 0.10 0.49
4.67 5.0 0.65| 0.20| 0.25 0.49
8.0 0.15 0.15
1.2 0.10( 0.20] 0.34 0.44 0.49 1.57
2.5 0.05 0.05
WSW| 3.5
1.62 5.0
6.0 )
1.2 0.39] 0.34 0.93 0.39 2.07
2.5 0.20 0.15 0.05 0.10 0.49
w 3.5 0.05 0.05 0.10
2.66 5.0
6.0
1.2 0.58| 0.20 1.48 0.69 2.95
2.5 0.39 0.34 0.93 0.20 1.87
WNW| 3.5 0.30| 0.15 0.30| 0.15 0.89
5.71 5.0
8.0
1.2 0.0 0.10| 0.48 2.07 1.13 3.84
2.5 0.20 0.34 0.79| 0.15| 0.4 1.92
NW| 3.5 ' 0.05 0.25| 0.20 0.49
8.25 5.0
6.0
1.2 0.05| 0.10] 0.30 1.87 1.48 3.79
2.5 0.05 0.05
NNW| 3.5
3.84 5.0
8.0
calm 0.20 5.02 11.02 16.23
& it 0.98| 5.80| 9.39| 1.33| 3.59) 0.89| 36.75| 2.80| 2.02| 36.35]  100.00
Bl KREMORMIE n/sTH 3. (Bfir 2 %)

2 HEEAENOBRBEELRAREYET.
3 RPesEAIL1SIE (R§=E6.91%)
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F]— 2 1 — (1) Frg - EEEFEKRBIRSSAE EE R ==
£F (RHFIZA~FRuELH) REFBRIEE X -
RRE A B
B EE| A ! B I C D E F G it
REREE B C
1.2 0.05| 0.14| 0.08 1.4 1.30 3.02
2.5
N 3.5
3.02 5.0
6.0 :
1.2 .09 0.09 0.98 1.12 2.28
2.5 0.05 0.05
NNE| 3.5
2.33 5.0
6.0
1.2 0.05| 0.09({ 0.14 0.60 2.00 2.88
2.5 0.33 0.1} 0.19] 0.33 1.02
NE| 3.5 0.05 0.28 0.33
4.33 5.0 0.09 0.08
6.0
1.2 0.19| 0.23 0.47 1.91 2.79
2.5 0.05] 0.08 0.05 0.19; 0.19] 0.28 0.84
ENE| 3.5 0.14 0.14
3.81 5.0 0.05 0.05
6.0
1.2 0.14 0.93 1.53 2.80
2.5 8.14 0.14 0.28
E 3.5 0.09{ 0.09 0.05 0.23
3.16 5.0 0.05 0.05
6.0
1.2 0.05| 0.09 1.21 1.44 2.78
2.5 0.09 0.47| 0.05} 0.14 0.74
ESE 3.5 0.05 0.23| 0.05 0.33
3.91 5.0 0.05 0.05
6.0
1.2 0.14 1.86 1.26 3.28
2.5 0.05 0.14 1.07| 0.14] 0.19 1.58
SE| 3.5 0.09] 0.05 0.84 0.98
5.88 5.0 0.05 0.05
6.0
1.2 0.05[ 0.37 1.21 0.60 2.23
2.5 0.09 0.18 0.28 0.56
SSE| 4.5 0.23 0.23
3.02 5.0
6.0
#1 RREBOBME 0/sTHB. (B47: %)

2 HiRAMNOBRIRZLAALERT.

8 REESMI1084MH (RWER0.46%)
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Fz— 2 1 — (2D @FEME - FEEEPEF&EBISKSSESAERE HiELSE
£% (BFI63EIZH~LRFTELH) RERBIEEY R -
AEE A B c
A EE| A | B [ c i D E F G i3
fSREAR B c D
1.2 0.47| 0.47 1.26 0.74 2.93
2.5 0.08 0.14 0.28 0.51
5 3.5 0.23 0.23
3.81 5.0 0.05] 0.05 0.09
8.0 0.05 0.05
1.2 1.49| 0.84 1.87 1.12 5.12
2.5 0.05 0.14 0.42| 0.28] 0.28 1.18
SSW| 3.5 0.05| 0.14 1.07| 0.51 1.77
11.02 | 5.0 0.05 1.71 1.81
8.0 0.05 1.12 1.16
1.2 0.51| 0.65 0.56 0.85 2.37
2.5 0.14 0.05 0.51] 0.19| 0.05 0.93
SW| 3.5 0.05 0.33| 0.14 0.51
4.00 | 5.0 0.05| 0.14 0.19
6.0
1.2 | 6.05| 0.42] 0.23 0.88 0.19 1.77
2.5 0.05| 0.09| 0.19 0.33
WSW| 3.5 0.05 0.05
2.14 | 5.0
~ 1 6.0
1.2 0.09] 0.33 0.47 0.80 1.49
2.5 0.19 0.14 0.14] o0.19| o0.14 0.79
W 3.5 0.09] 0.05 0.14
2.42 | 5.0
8.0
1.2 { 0.05| 0.56| 1.51 1.81 1.40 4.42
2.5 0.98 0.42 1.02| 0.70| 0.51 2.93
WNW| 3.5 0.05| 0.05| 90.14 C0.47] 0.23 0.93
8.85 | 5.0 0.05| 0.05| 0.28 0.37
8.0
1.2 0.84| 0.98 4.23 2.85 8.70
2.5 0.28 0.56 2.23| 0.42| 0.28 3.77
NwW| 3.5 0.33| 0.33 1.02 1.67
14.23 | 5.0 0.05| 0.05 0.09
6.0
1.2 0.28| ©.60 3.02 2.42 6.33
2.5 0.47| 0.05| 0.14 0.65
NNW| 3.5
7.02 | 5.0 0.05 0.05
6.0
calm 0.33 9.77 7.18 17.26
& 8 0.19| 5.30] 7.83{ 0.65| 3.12| 0.19| 48.74| 3.44| 2.65| 28.09| 100.00
#1 RERBOBMIL 0/sTH 3. (Bifiz 2 %)

2 HiRANORABBREEARERT.

3 REEHM108808 (REHE0.46%)
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Fe— 2 2 — (1) ELEr - FEGEPESRBUKISRESSAEE Nl s
#%F (FAG3ESH « BRAEIA~LH) BERFH ISy X~
Rk A B C
Br EE|l A i B ! c ! D E F G it
REH B C D
1.2 0.0 0.15 0.30 1.16 1.31 2.97
2.5 0.10 0.05 0.15
N 3.5
3.12 5.0
8.0
1.2 | 0.05{ 0.30] 0.25 1.76 1.1 4.07
2.5 0.05 0.05 0.35 0.45
NNE| 3.5 0.05 0.05
4.58 5.0
8.0
1.2 | 0.10| o0.30} 0.30 2.11 2.62 5.43
2.5 0.35| - 0.60 0.45 1.56| 0.16} 0.35 3.42
NE| 3.5 0.10] 0.05| 0.20 0.75 1.11
10.51 5.0 0.05] 0.50 0.55
6.0
1.2 0.15| 0.20] 0.40 1.38 2.48 1.58
2.5 0.25] 0.45 0.55 0.70| 0.25] 0.30 2.52
ENE| 3.5 0.10| 0.15{ 0.05 0.91| 0.25 1.48
8.60 5.0 0.05 0.05
8.0
1.2 0.20 0.35 1.01 2.4t} 3.97
2.5 0.20{ 0.75 .10 0.35| 0.30] 0.15 1.88
E 3.5 0.15| 0.25| 0.05 0.35] 0.10 0.91
6.94 5.0 0.05| 0.05] ¢©.10 0.20
6.0
1.2 0.05| 0.70| 0.30 1.36 1.81 4.23
2.5 0.05| 0.55 0.40 0.20| 0.10 1.31
ESE} 3.5 0.15} 0.20] 0.05 0.20 0.80
8.34 5.0 0.15 0.05 0.20
8.0
1.2 0.15| 0.30 1.98 2.21 4.83
2.5 0.15| 0.15 0.10 0.30| 0.05} 0.15 0.91
SE| 3.5 0.05 0.05| 0.05 0.15
5.68 5.0
8.0
1.2 0.10| 0.15] 0.20 1.21 0.91 2.57
2.5 0.05 0.25| 0.15| 0.05 0.50
SSE| 3.5 0.05 0.05
3.12 5.0
6.0
#1 REBROBRNE 0/sTH 3. (867 : %)

2 HEEMNOBRRMERLIAREERT.

3 REe§AIIZ172650 (RFET.96%)
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F|— 2 2 — (2) BEiag - FEEPE IR EE S Es

#F (BMEESH - RRTEIA~LA) RERFEIEEY -
RA%E A B cC
B@ EE| A ! B | C | D E F G #
fRFAE B C D
1.2 0.40] 0.25 0.80 0.86 2.31
2.5 8.10 0.05 0.40 0.25 0.80
S 3.5 0.20| 0.10 0.30
3.47 5.0 0.05 0.05
6.0
1.2 0.15) 0.45{ 0.45 1.81 0.75 3.42
2.5 ) 0.10| 0.15 0.50 0.88) 0.10] 0.20 1.91
SSW{ 3.5 .05 0.35] 0.15 0.85| 0.25 1.48
10.81 5.0 0.35;] 0.80| 1.8 3.02
8.0 0.05 0.96 1.01
1.2 0.20| 0.60| 0.80 0.73 0.25 2.41
2.5 0.25| 0.50 0.20 0.40| 0.10 1.48
Sw] 3.5 0.30| 0.30 0.35| 6.05 1.01
5.89 5.0 0.40) 0.15| 0.30 ‘ 0.86
6.0 0.05 0.10 0.15
1.2 0.25 0,25| 0.30 0.40 0.25 1.48
2.5 0.30| 0.05 0.05 0.40
WSw)| 3.5 0.05 0.05
1.91 5.0
6.0
1.2 0.20| 0.25] 0.60 0.85 0.25 1.96
2.5 0.35] 0.15 0.05 0.05 0.60
W 3.5 0.15 0.15
2.72 5.0
8.0
1.2 0.15{ 0.50) 0.55 _ ¢.91 0.50 2.62
2.5 0.55| 0.8 ¢.30 0.05 1.58
WNW]| 3.5 ¢.25) 0.35| 0.05 0.65
4.88 5.0 (.05 0.05
8.0
1.2 0.10| 0.70( 0.70 2.08 1.31 4.88
2.5 0.35| 0.4 0.40 0.151 0.25 1.61
NW | 3.5 (.10 0.05 0.05 0.20
6.69 5.0
6.0
1.2 0.30) 0.45 1.61 0.91 3.27
: 2.5 0.051 0.30 0.15 0.85 1.18
NNW] 3.5 0.05 0.05
4.48 5.0
6.0
calm 0.30 4.02 5.94 10.26
& it 1.56f 8.80| 13.13| 1.78( 4.98 1.11| 38.58| 2.31{ 1.51| 26.46| 100.00
E1 KKREROBRME o/sTHB. (Bfiz s %)

2 #HiEEMIoREEGEAREARYRT,
3 RESHIGIL1720500 (R FAHT.96%)
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Fe— 2 3 — (1) FE - JEEEFERRBIRKAZEEEE IR =
W (FHREIESH ~PRAELA) WEFHIEL X —
KEAE A B C
A wE| A | B ! C 1 D E F G it
ERBEA B C D
“f 1.2 | o0.12| 0.17| 0.18 1.15 1.46 3.07
2.5 0.02 0.14] 0.02] 0.01 0.20
N 3.5 0.04 0.04
3.32 | 5.0 0.01 0.01
8.0
.2 | 0.11] 0.23] 0.2 1.32 1.54 3.43
2.5 0.02] 0.04 0.01 0.13 0.20
NNE| 3.5 0.01 0.01
3.6 | 5.0
6.0
1.2 | 0.26{ 0.49| 0.3 1.64 2.46 5.20
2.5 0.32| 0.37 0.32 0.70} 0.08] 0.25 2.05
NE| 3.5 0.04|{ 0.05| 0.05 0.34 0.47
7.88 | 5.0 0.01} 0.14 0.15
8.0
1.2 { 0.15| 0.42| 0.46 1.10 2.43 4.57
2.5 0.27| 0.33 0.21 0.3 0.13] 0.19 1.53
ENE| 3.5 0.05| 0.08] 0.01 0.30| 0.08 0.50
6.82 | 5.0 0.02 0.02
8.0
1.2 | 0.14| 0.28] 0.45 0.91 1.85 3.61
2.5 0.17| 0.33 0.14 0.23| 0.08] 0.17 1.13
E 3.5 0.06| 0.12] 0.02 0.13| 0.08 0.39
5.23 | 5.0 0.02} 0.01] 0.07 0.11
6.0
1.2 | 0.17| 0.33| 0.33 1.40 1.63 3.86
2.5 0.18| 0.28 0.20 0.3¢| o0.12] o0.14 1.27
ESE| 3.5 0.111 0.14] 0.05 0.24| 0.08 0.62
6.10 | 5.0 0.08] 0.02| 0.17 0.25
8.0 0.11 0.11
1.2 | 0.09] 0.24| 0.28 1.92 1.96 4.47
2.5 0.06| 0.08 0.08 0.55| 0.17] 0.12 1.04
SE| 3.5 0.04] 0.01 0.28| 0.01 0.34
5.89 | 5.0 0.02 0.02
8.0
1.2 | 0.07| 0.1} 0.31 1.23 0.90 2.67
2.5 0.02| 0.05 0.07 0.23{ 0.05] 0.04 0.45
SSE| 3.5 0.07{ 0.01 0.08
3.20 | 5.0
6.0
El KREBORMI n/sTHB. (B 1 %)

2 HERAMNOREEEEARELERT.

3 RESMEISEHEH (XRE144.08%)
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2 HERANORRBRERAEEFRT.

3 R3S (RE1H4.08%)
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+=]T— 23— (2) FEig - BEEEEAZRBIRSESSETEE B FE
B (EH6IESH ~ER7TELR) REFHETEE 2 -
RAL A B C
BA 2B A | B } C | D E F G ED
fEREH B C D
1.2 0.06 0.44{ 0.33 1.02 0.90 2.75
2.5 0.11 0.11 0.25| 0.05] 0.08 0.57
S 3.5 0.13] 0.04 0.17
3.62 5.0 0.01] 0.02] 0.08 0.12
8.0 0.01 0.01
1.2 0.15{ 0.8 0.51 1.78 1.00 4.30
2.5 0.05] 0.23 0.32 0.82| 0.23| 0.14 1.78
SSW| 3.5 0.12y 0.34| 0.12 0.95{ 0.28 1.82
10.89 5.0 0.17} 0.48} 1.54 2.20
8.0 0.04 -0.77 0.81
1.2 0.15{ 0.63( 0.70 0.83 0.47 2.79
2.5 0.21] 0.45 0.30 "0.42] ¢6.11 0.01 1.50
SW| 3.5 0.25| 0.31} 0.08 0.381 0.05 1.04
5.92 5.0 0.17| 0.13{ 0.20 0.50
8.0 0.01 0.08 0.09
1.2 0.21| 0.34| 0.32 0.83 0.38 1.89
2.5 0.131 0.05 0.01| 6.02{ 0.087 0.27
WSW| 3.5 0.01 0.01 0.02
2.18 5.0
6.0
1.2 0.14} 0.37) 0.43 0.4 0.53 2.21
2.5 0.21| 0.14 0.08 0.08| 06.08| 0.08 0.62
w | 3.5 0.04 0.01 0.0 0.01 0.09
- 2.92 5.0
6.0
1.2 0.37]{ 0.63]| 0.50 1.42 0.95 3.87
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